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the Question Booklet and the Answer Sheet. 

5. ysoy&ysoy&ysoy&ysoy&1    [ d{kk d{kk d{kk d{kk I    ls ls ls ls V    ds fy,ds fy,ds fy,ds fy, ]    
Hkkx&I  % cky fodkl o f'k{kk 'kkL= [ç'u 1 ls ç'u 30]    
Hkkx&II  % Hkk"kk % [ç'u 31 ls ç'u 60] 
  ¼fgUnh % 15 iz'u o vaxzsth % 15 iz'u½ 
Hkkx&III % lkekU; v/;;u % [ç'u 61 ls ç'u 90] 
  ¼ek=kRed ;ksX;rk % 10 iz'u] rkfdZd vfHk{kerk % 10 iz'u] lkekU; 

Kku ,oa vfHkKku % 10 iz'u½ 
Hkkx&IV % xf.kr  [ç'u 91 ls ç'u 120] 
Hkkx&V % i;kZoj.k v/;;u  [ç'u 121 ls ç'u 150] 

        5. Level–1 [ For Classes I to V ] 

PART–I : Child Development and 

                                      Pedagogy  [Qn. 1 to Qn. 30] 

PART–II  : Language : [Qn. 31 to Qn. 60] 

  (Hindi : 15 Qn. & English : 15 Qn.)  

PART–III : General Studies : [Qn. 61 to Qn. 90] 

  (Quantitative Aptitude : 10 Qn, Reasoning 

Ability : 10 Qn, G. K. & Awareness  : 10 Qn.) 

PART–IV : Mathematics  [Qn. 91 to Qn. 120] 

PART–V : Environmental Studies [Qn. 121 to Qn. 150]    

iz'u&iqfLrdk Øekad ,oa vks-,e-vkj- Øekad 
Question-Booklet Serial No. & O. M. R. Serial No. 

SET – A 
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H kk xH kk xH kk xH kk x – I / PART – I 

c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %  f uEufy f[ kr iz'uk s a d s m Ù kj ns us d s f y, l c ls m fprl c ls m fprl c ls m fprl c ls m fpr  f od Yi pq f u,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

1. Jo.k&ckf/k r fo|kfFkZ;ksa ds f'k{k.k&vf/k xe  
gsrq dkSu&lk izf'k {k.k vko';d ughaughaughaugha gS \ 
 
a. v k s "B iBu 
b. l a d s r H kk "kk 
c. c z s y fyf i 
d. xke d  iz f 'k{k. k  
1) a ,o a b  

2) b , o a c 
3) c ,o a d  

4) a ,o a c 

  

1. Which training is not necessary for 

teaching-learning of hearing 

impaired students ? 

a. Lip reading 

b. Sign language 

c. Braille-script 

d. Motor training 
1) a and b  

2) b and c 

3) c and d  

4) a and c 

2. tc , d  cPp s d k  u S frd  fod kl ,d  v PNk 
yM + d k ; k v PNh  y M+d h ?kk s f"k r gks u s d h 
bPNk  ij v k /kk fjr gks rk  gS] r ks bl  u S fr d rk 
d k  l a ca/k  fd lls gS \ 
 
1) O ;fDr ok n , oa fo fu e; 
2) v k Kkd kfjr k ,o a n. M 
3) l kek ftd  v uq ca/k 
4) v PN s vUr o SZ ; fDr d  l a ca/k 

  

2. When the moral development of a 

child is based on the desire to be 

declared a good boy or a good 

girl, then what is this morality 

related with ? 
1) Individualism and Exchange 

2) Obedience and Punishment  

3) Social contracts 
4) Good Interpersonal 

Relationships 

3. fu Eu fyf [k r es a l s d kS u &l k d F ku v ftZ r 
iz s jd ks a d h lgh O; k[ ;k  u ghau ghau ghau gha d jrk  \ 
 
1) o s tUet kr u gh a gk s rs 
2) o s lkf oZ d  gks r s gS a 
3) o s t hfo r jgu s d s fy, vk o'; d  u gha 

gks r s 
4) o s v f/kxe d k s izH kk fo r d jrs gS a 

  

3. Which of the following statement 

does not correctly explain the 

acquired motives ? 

1) They are not innate 

2) They are universal 

3) They are not essential to 

survival 

4) They affects learning 
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4. ^ e ku fld  v k ;q* d k  iz R; ; fd lus fn; k \ 
1) f cu s 2) LV u Z 
3) V eZ u 4) o s'yj 

  

4. Who coined the term 'Mental age' ? 

1) Binet 2) Stern 

3) Terman  4) Wechsler  

5. f'k {kd  d k fu Euf yf[ kr e as ls d kS u &lk d k;Z 
lt Z u'kh y c Pps d h {kerk  d k s v o#) 
d jr k gS \ 

1) v ilk jh  f pa r u d s fy, iz k s Rlk gu   
 

2) nw ljka s ds fo pkjks a d h  vu q :ir k d s fy, 
t ks j 

3) f op kjks a d h v fH k O; fDr d h Lo ra = rk  
 

4) u oiz o rZ u  d s f y, iz s j.k k 

  

5. Which of the following act of the 

teacher blocks the potential of 

creative child ? 

1) Encouragement for divergent 

thinking 

2) Insistence on conformity to the 

ideas of others 

3) Freedom for expression of 

ideas 

4) Motivation for innovation 

6. fu Eu fyf [k r e s a l s d kS u&l k cq f )  ijh{k . k  
, d  v 'k kf Cnd  c q f)  ijh {k. k gS \ 
1) v k ehZ&v YQ k  ijh{k .k  
2) jS o s u d k iz ks xz s flo es V ª hls t+ ijh{k. k  

 
3) f cu s&l kbeu  ijh{k . k  
4) t yks V k l ke kU; ek uf ld  ; ks X; rk 

ijh{k. k  

  

6. Which of the following intelligence 

tests is a non-verbal intelligence test ? 

1) Army-alpha Test 

2) Raven's Progressive Matrices 

Test 
3) Binet-Simon Test 

4) Jalota General Mental Ability 

Test 

7. v u qns'ku kR ed  d k ;Z Ø e  ds nkS jku  iz f riq f"B  
}k jk l q/kk j d s m n~ns';  ls fd ; k x; k 
e w Y; ka d u d gykr k gS % 
 
1) ; ks xkRe d  
2) f unku kRe d 
3) O ;o LF kkR ed 
4) f ue kZ . kk Red @jpuk Red 

  

7. The evaluation done for the 

purpose of improvement through 

feedback during the instructional 

program is called as : 

1) Summative 

2) Diagnostic 

3) Systematic 

4) Formative 
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8. iS oy kW o d s v f/kxe fl) k Ur d k  v k /kk j fd l 
iz d kj d k lh [k uk  gS \ 

1) l a iz R; ; kRe d  

2) v u q ca f /kr 

3) l w >iw. k Z 

4) v u q d j.k kRed 

  

8. What type of learning is the basis 

of Pavlov's learning theory ? 

1) Conceptual 

2) Conditioned 

3) Insight 

4) Imitative 

9. lk ek thd j. k d h  iz fØ ; k ea s l kf F k;k s a d k 
izH kko m Ù kj ck Y;ko LF kk  d s fd l uke d ks 
la nfH k Z r ugh augh augh augh a d jr k gS \ 

1) ny&v k; q 

2) v u q :irk d h  v k ;q 

3) [ ks y  v k ;q 

4) l a Ø e. k v k; q 

  

9. Which name of late childhood does 

not refer to the influence of peers 

in the process of socialization ? 

1) Gang-age 

2) Age of conformity 

3) Play-age 

4) Transitional age 

10. fu Eu fyf [k r e a s ls d kS u &l k d k jd  v f/k xe  
d k s ud kjk Red  :i ls izH k kfo r d jr k gS \ 

1) v H ; kl  

2) bPNk  'k fDr 

3) v f H kiz s j. k k 

4) F k d ku 

  

10. Which of the following factors 

negatively affects learning ? 

1) Practice 

2) Will Power 

3) Motivation 

4) Fatigue 

11. fu Eu fyf [k r ea s l s d kS u&lk  d k jd  o S ;fDr d 
fH k Uur kv k as d k s izH kkf or d ju s o kys o a'kku q xr 
d k jd ksa eas lf Eef yr u gh au gh au gh au gh a  gS \ 

1) 'k kjhfjd  la jp uk 

2) c q f)  

3) v f H k{ke rk  

4) v f H ko `f Ù k 

  

11. Which of the following factors is not 

included in the hereditary factors 

affecting individual differences ? 

1) Physical Structure 

2) Intelligence 

3) Aptitude 

4) Attitude 
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12. F kk W uZM kbd  d s f cYy h ij l h[ ku s d s iz; ks x e a s 
, d  fo f'k "V O;o gkj lh [k us d s fy, fd l 
iz d kj d s v fH kiz s jd  d k  mi; ks x fd ; k x; k  
F kk  \ 
1) t Sf od  v f H kizs jd  
2) l kek ftd  v f H kiz s jd 

3) c ká  v fH k iz s jd 
4) o kr ko j.k h; v f H kiz s jd  

  

12. What type of motive was used to 

learn a specific behaviour in 

Thorndike's learning experiment 

on cat ? 

1) Biological motive 

2) Social motive 

3) Extrinsic motive 

4) Environmental motive 

13. fuEufyf[kr esa ls d kSu &lh mÙkj ckY;koLFkk 
ds cPpksa dh mi;qDr lkekftd O;kogkfjd  
fo'ks "krk ughaughaughaugha gS \ 
 
1) l g; ks x  
2) l gk uqH kw f r 
3) ijku qHk w fr 
4) v ga&d s fUnz r rk 

  

13. Which of the following is not an 

appropriate social behavioural 

characteristic of late childhood 

children ? 

1) Cooperation 

2) Sympathy 

3) Empathy 

4) Ego-Centrism 

14. fo d k l d h iz fØ ; k iz k jaHk  gk s rh  gS % 
 
1) xH kk Z/kku  ls if jiDor k rd  
2) t Ue ls if jiDo rk  r d  
3) xH kk Z/kku  ls e` R; q rd 
4) t Ue ls e` R ;q rd  

  

14. Development is a process begins 

from : 

1) Conception to Maturity 

2) Birth to Maturity 

3) Conception to Death 

4) Birth to Death 

15. d k S u&lh  f'k {k. k&v f/k xe  i ) fr c ky  d s fU nz r 
, oa iz xf r'kh y f 'k{k k ea s lf Eef yr u gh au gh au gh au gh a  gS \ 
 
1) iz k; ks tu k 
2) l eL; k lek /kk u 
3) H k k"k .k  
4) iz ;k s xk Re d  

  

15. Which teaching-learning method is 

not included in a child centered and 

progressive education ? 

1) Project 

2) Problem solving 

3) Lecture 

4) Experimental  
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16. fu Eu fyf [k r eas l s d kS u&lk ,d  ck g~;  
v fH k iz s jd  u gh au gh au gh au gh a gS \ 
1) v u q ek s nu 
2) l Ù kk 
3) m iy fC/k  
4) f oJk e 

  

16. Which of the following is not an 

extrinsic motive ? 

1) Approval 

2) Power 

3) Achievement 

4) Rest 

17. fofHkUu vko';drkvksa okys fo|kfFkZ;kas d h 
lekos'kh d{kk ds fy, dkSu&lh 
f'k{k.k&vf/kxe O;wgjpuk,¡ egÙo iw.kZ gksaxh \ 
 
a. c gq l a os nh f'k {k. k  
b. l g; ks xh v f/k xe  
c. l kF kh  f 'k{k. k  
d. ny f'k {k. k  
1) a, b , o a d 2) b , o a c 
3) a ,o a d 4) a, b, c ,o a d 

  

17. Which teaching-learning strategies 

will be important for an inclusive 

classroom of students with 

different needs ? 

a. Multisensory Teaching 

b. Cooperative Learning 

c. Peer Tutoring 

d. Team Teaching 
1) a, b and d 2) b and c 

3) a and d 4) a, b, c and d 

18. iz frH kk'k kyh  fo | k fF kZ ; ksa ds f y, fu Euf yf[ kr 
e s a l s d kS u &l h 'kS f{k d  O; oLF k k d h t kuh 
pk fg, \ 
1) R oj. k 
2) m ip kjkR ed  f'k {k. k 
3) o kp u v H ;k l 
4) o kd ~&m ip kj  

  
18. Which of the following educational 

arrangements should be made for 

talented students ? 

1) Acceleration 
2) Remedial Teaching 

3) Reading Practice 

4) Speech Therapy  

19. o k; xk s V~Ld h  d s v uq l kj] og  Hk k"k . k tks Lo; a 
d h  v k s j f uns Z f'kr gk s rk gS] d gykr k gS %  
 
1) l kek ftd  H k k"k . k 
2) f uth  H k k"k . k 
3) c ká  H kk "k. k 
4) v a r%fØ ;k  H k k"k .k 

  

19. According to the Vygotsky the 

speech which is directed to the self, 

that is known as : 

1) Social speech  

2) Private speech 

3) External speech 

4) Interaction speech 
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20. fd l e uks o S Kk fu d u s v iu s la K kuk Re d 
fo d k l f l) kU r e a s ^ o Lr q LF kk f; Ro* d k 
la iz R; ; iz Lrq r f d ; k \ 

1) f i; kts 

2) o k; xk s V~Ld h  

3) c z w uj 

4) d k s g~ycxZ 

  

20. Which psychologist rendered the 

concept of 'object permanence' in his 

cognitive development theory ? 

1) Piaget  

2) Vygotsky  

3) Bruner  

4) Kohlberg 

21. ^fdlh dk;Z dk la rks "ktud izHkko ml dk;Z ds 
lh[kus dks izHkkfor djrk gSA* lh[kus dk ;g 
fu;e fdlds }kjk izfrikfnr fd;k x;k \ 
 

1) iS o ykW o 

2) F k kW u ZMkbd 

3) f Ld uj 

4) o kW V lu  

  

21. 'The satisfactory effect of a task 

affects the learning of that task.' 

Who propounded this law of 

learning ? 

1) Pavlov 

2) Thorndike 

3) Skinner 

4) Watson 

22. fu Eu fyf [k r es a ls d kSu &l k d F ku  f od k l ds 
la nH kZ e sa lgh  u gh au gh au gh au gh a  gS \ 
 

1) f od k l ea s izd k; kZ Red  if jor Z u gks rs gS aA 

2) f od k lk Red  iz fr ek u ¼ iS Vu Z½ iw o kZ u qes ; 
gks r k gSA 

3) l H kh c Ppk s a d k fo d kl ,d &l eku  
gks r k gSA 

4) f od k l lk ek U; ls fo f'k " V d h v ks j 
c <+ r k gSA 

  

22. Which of the following statement is 

not correct in context of 

development ? 

1) Development involves 

functional changes. 

2) Developmental pattern is 

predictable. 

3) All children develop the same. 

4) Development proceeds from 

general to specific. 



  [ 9 / A ] 

[ Level-1 / 1101 ]  P. T. O. 

23. fuEufyf[kr esa ls dkSu&lk dFku lh[kus dh 
fojke fof/k ds egRo dks bafxr ughaughaughaugha djrk \ 
 
1) l h[ kus e a s F k d ku  u gha gk s rh  
2) Le ` fr f pg~u le s fd r u gha gk s rs 
3) l h[ kus e s a vf H k#f p cu h jgr h gS 
4) e ku fld  Å c rk  u gh a gk s rh 

  
23. Which of the following statements 

does not indicate the importance 

of spaced method of learning ? 

1) Learning doesn't get tiring 

2) Memory traces not consolidate 

3) Maintains interest in learning 

4) No mental boredom 

24. fu Eu fyf [k r es a ls d kS u &lk fu ca/k kR ed  izd kj 
d s iz'u ks a d k  , d  :i u gh au gh au gh au gh a  gS \ 
1) o . kZ u kRe d 2) f o'y s "k. kk Re d 
3) iz R; kf Hk Kk uk Red  4) v k yk sp uk Red  

  

24. Which of the following is not a 

form of essay type question ? 

1) Descriptive 2) Analytical 

3) Recognition 4) Critical  

25. fd l v f /kxe f u; ks Z X; rk  e sa fu Euf yf[ kr 
gLr{k s i d k ;Z Ø e  l q >k, x,  gS a \ 
 
(A) H k k"k k; h le>  d s f y, iz ;k l 
 
(B) o rZ u h lq/k kj d s f y, v H ; kl  
1) f MLys f Dl;k  
2) f MLe S fXu f'k; k 
3) f MLxz kfQ ;k  
4) f MLd S yd q fy ;k 

  

25. In which learning disability, the 

following intervention programs are 

suggested ? 

(A) Efforts for linguistic 

comprehension 

(B) Drill for spelling correction 

1) Dyslexia 

2) Dysmagnisia 

3) Dysgraphia 

4) Dyscalculia 

26. fu Eu fyf [k r e a s ls d k S u&lk  d F ku  v f/k xe 
d s la c a/k es a lgh u gh au gh au gh au gh a  gS \ 
1) v f /kxe v H ; kl }kjk O; o gk j es a 

ifjo rZ u  gSA  
2) v f /kxe v uqH k ok sa d s if j. k keLo :i  

gks r k gSA 
3) v f /kxe O; ogkj e s a v is{k k d ` r LF k k;h 

ifjo rZ u  gSA  
 

4) v f /kxe ifjiDo rk  d s d kj. k  O;o gkj 
e a s ifjo rZ u  gSA 

  

26. Which of the following statement is 

not correct regarding learning ? 

1) Learning is a change in 

behaviour through practice. 

2) Learning occurs as a result of 

experiences. 

3) Learning is relatively 

permanent change in 

behaviour. 

4) Learning is a change in 

behaviour due to maturity. 
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27. , d  cPpk f d lh  ikB d ks v iu h lq fo/k kuq l kj 
d bZ Hk kxks a es a ck ¡ Vd j lh[ kr k gSA ; g lh[ ku s 
d h  d kS u&lh  fo f/k gS \ 
 
1) iw . kZ fo f/k 
2) v f ojke  fo f/k 
3) v a'k f of /k 
4) iz kl a fxd  f of /k 

  
27. A child has to learn a lesson by 

dividing it in several sections as per 

his convenience. Which is this 

method of learning ? 

1) Whole method 

2) Massed method 

3) Part method 

4) Incidental method 

28. ^ l ehiLF k fo d k l d k {ks =* ; g la iz R; ; fd l  
e uks o S Kkfu d  }kjk  iz Lrq r fd; k x; k gS \  
 
1) , fjDlu  2) o k; xks V ~Ld h  
3) d k s g~ycxZ 4) f i;kt s 

  

28. 'Zone of Proximal Development' 

this concept is coined by which 

psychologist ? 

1) Erikson 2) Vygotsky 

3) Kohlberg 4) Piaget 

29. xS us d s v f/k xe  iz fre ku d s vu q lk j fd lh 
la iz R; ; v f/ kxe  d s iw o Z  f d l iz d kj ds 
v f/ kxe  d h v ko';d r k u gh au gh au gh au gh a  gks xh \ 
 
1) Ü k` a [ ky k v f/k xe 
2) f u; e v f/k xe  
3) l a d s r v f/k xe 
4) f oH k s nu  v f /kxe 

  

29. According to Gagne learning 

model, which type of learning will 

not be required before any 

concept learning ? 

1) Chain Learning 

2) Rule Learning 
3) Signal Learning 

4) Discrimination Learning 

30. 90-110 cq f )  y fC/k  iz l kj fd l  c kS f ) d 
Js . kh  d k iz f rf uf /kRo d jrk  gS \ 

1) v k S lr 

2) v k S lr ls d e 

3) v k S lr ls v f/k d 

4) Js " B 

  

30. 90-110 range of I.Q., represent 

which intellectual category ? 

1) Average 

2) Below Average 

3) Above Average 

4) Superior 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

fgUnhfgUnhfgUnhfgUnh / HINDI 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. fdl fodYi dk 'kCn ^eNyh* dk i;kZ;okph 
ughaughaughaugha gS \ 
1) eRL; 
2) 'kydh 
3) >"k 
4) edjh 

32. fdl fodYi ds 'kCnkas eas izR;; lacaf/kuh 
v'kqf) gS \ 

1) fookgsrj] fpg~u 

2) ekuuh;] ukbu 

3) izR;k'kh] izeqfnr 

4) ikafMR;rk] ckgqY;rk 

33. fdl fodYi eas ^{kek&{ek* 'kCn&;qXe dk 
Øe'k% lghlghlghlgh vFkZ gS \ 
1) rIr & /kwi 
2) ekQ ðh & ryokj 
3) dRFkk & ekQ ðh 
4) ekQ ðh & i`Foh 

34. fuEu esa ls dkSu&lk ;qXe laxr ughaughaughaugha gS \ 
1) ;] o – ukflD; o.kZ 

2) M+] <+ – mfR{kIr o.kZ 

3) j – yqafBr o.kZ 

4) y – ikf'oZo o.kZ 

35. fdl fodYi dk 'kCn O;fDrokpd laKk dk 
mnkgj.k ughaughaughaugha gS \ 
1) uxj 
2) jkek;.k 
3) vkxjk 
4) rktegy 

36. fdl fodYi ds 'kCn ^vfHk* milxZ ls 
fufeZr ughaughaughaugha gSa \ 
1) vfHkjke] vH;kxr 
2) vHkh"V] vHkhfIlr 
3) vH;qn;] vfHk"ksd 
4) vkf/kdkfjd] vk/;kfRed 

37. rRiq#"k lekl dk dkSu&lk ;qXe vlaxrvlaxrvlaxrvlaxr 
gS \ 
1) vk'kkrhr – deZ rRiq#"k 
2) rqylhd`r – laca/k rRiq#"k 
3) jlksbZ?kj – laiznku rRiq#"k 
4) x`gLFk – vf/kdj.k rRiq#"k 

38. fdl 'kCn esa ^br* izR;; ^d`nUr* ds :i eas 
iz;qDr gqvk gS \ 
1) iwftr 
2) dyafdr 
3) dqlqfer 
4) Qfyr 
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39. daikmaMj chekj dks nok fiykrk gSA mDr 
okD; esa js[kkafdr in gS % 

1) iwoZdkfyd fØ;k 

2) uke/kkrq fØ;k 

3) izsj.kkFkZd fØ;k 

4) d`nUr fØ;k 

40. fdl fodYi ds 'kCn rRle ughaughaughaugha gSa \ 

1) c;kj] dkt 

2) vkKk] jktk 

3) Lokeh] i{k 

4) d.kZ] oRl 

41. fuEu esa ls dkSu&lk Hksn ^iq#"kokpd 
loZuke* dk ughaughaughaugha gS \  

1) O;fDrokpd 

2) mÙke iq#"k 

3) e/;e iq#"k 

4) vU; iq#"k 

42. fuEu esa ls xq.kokpd fo'ks"k.k dk mnkgj.k 
ughaughaughaugha gS % 

1) vPNk 

2) vk/kk 

3) cqjk 

4) yky 

43. fuEu esa ls dkSu&lk 'kCn O;atu laf/k dk 
mnkgj.k gS \ 
1) okxh'k 
2) nsohPNk 
3) dih'k 
4) fo/kwn; 

44. fdl fodYi eas foyksekFkhZ ;qXe laxr ughaughaughaugha 
gS \ 
1) vkKk & vuqKk 
2) vkpkj & vukpkj 
3) vkPNUu & fujkPNUu 
4) vkylh & m|eh 

45. ^nwljs ds dke esa n[ky djuk* okD;ka'k ds 
fy, mfpr ,dy 'kCn pqfu, % 
1) mUewyu 
2) "kksM'kh 
3) gLr{ksi 
4) v/;w<k 
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vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH 

Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct prepositions 

for the blanks : 

He has been living ........... Calcutta 

........... last three years. 

1) in, since 

2) in, for 

3) at, for 

4) into, since 

47. I met Mr. Shah at .......... U. S. 

airport. 

1) a 2) an 

3) the 4) zero 

48. Choose the correct option to fill in 

the blank : 

You are ............ among criminals. 

1) meaner  

2) meanest 

3) meanly  

4) most meaner 

49. Choose the correct one word 

substitution : 

A disease that spreads over a large 

area. 

1) effeminate 

2) germicide 

3) epidemic 

4) illicit 

50. The word 'pious' means : 

1) religious and moral  

2) worthless 

3) liberal 

4) traitor 

51. Choose the correct option to fill in 

the blank : 

He ............ his sister more than 

anyone else. 

1) love 

2) is loving 

3) was loving 

4) loves 

52. Choose the correct sentence : 

1) He break her heart by turning 

down her proposal. 

2) He breaked her heart by 

turning down her proposal. 

3) He has breaked her heart by 

turning down her proposal. 

4) He broke her heart by turning 

down her proposal. 

53. Choose the correct option to fill in 

the blank : 

He ............ sleep after reading at 

least 20 pages every night, when 

he lived in hostel. 

1) will 2) would 

3) might 4) shall 
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54. Choose the correct tense form : 

Look ! Here .......... the director of 

the drama. 

1) had come  

2) have come 

3) come  

4) comes 

55. Choose the correct option to fill in 

the blank : 

You will fail ............ you work very 

hard. 

1) nevertheless  

2) howsoever 

3) unless  

4) beside 

56. The synonym of 'Filthy' is : 

1) weak  

2) fluffy 

3) dirty  

4) strong 

57. The antonym of 'adversity' is : 

1) discord  

2) prosperity 

3) scarcity  

4) misery 

58. The idiom – "To pay off old scores" 

means : 

1) To return capital without 

interest 

2) To have revenge 

3) To live within one's initial 

income 

4) To refuse to pay one's loan 

59. Choose the correct option for the 

underlined word : 

She is likely to come today. 

1) Adverb  

2) Adjective 

3) Pronoun  

4) Conjunction 

60. Choose the correct option : 

'Misanthrop' is :  

1) Something imaginary 

2) Something not based on facts 

3) One who hates mankind 

4) A calf for sacrifice 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / Quantitative Aptitude, Reasoning 

Ability and G. K. & Awareness 

funsZ'kfunsZ'kfunsZ'kfunsZ'k    %%%% fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

61. 10 Hkqtkvksa okys ,d fu;fer cgqHkqt ds 
lHkh vUr%dks.kksa dk ;ksx gS % 

1) 6π 2) 8π 

3) 10π 4) 12π 

  

61. The sum of all interior angles of a 

regular polygon of 10 sides is : 

1) 6π 2) 8π 

3) 10π 4) 12π 

62. ,d vkneh 80 fdeh nwjh dks 7 ?kUVs eas 
r; djrk gS] og vkaf'kd nwjh 8 fdeh@?kUVs 
dh nj ls iSny py dj rFkk 16 
fdeh@?kUVs dh nj ls vkaf'kd nwjh lkbfdy 
ls r; djrk gS] rks og iSny fdruh nwjh 
pyrk gS \ 

1) 28 fdeh 2) 30 fdeh 

3) 32 fdeh 4) 33 fdeh 

  

62. A man travelled a distance of 

80 km in 7 hours, partly on foot at 

the rate of 8 km/hour and partly on 

bicycle at 16 km/hour, then the 

distance travelled on foot is : 

 

1) 28 km 2) 30 km 

3) 32 km 4) 33 km 

63. ,d leckgq f=Hkqt dh Hkqtk ,oa Å¡pkbZ dk 
vuqikr gS % 

1) 2 : 1 2) 1 : 1 

3) 3  : 2 4) 2 : 3  

  

63. The ratio of the side and height of 

an equilateral triangle is : 

1) 2 : 1 2) 1 : 1 

3) 3  : 2 4) 2 : 3  

64. ,d pØh; prqHkqZt ds dks.kksa ds v/kZdkas ls 
fufeZr prqHkqZt gksrk gS % 

1) pØh; prqHkqZt 

2) vk;r 

3) oxZ 

4) lekUrj prqHkqZt 

  

64. The quadrilateral formed by angle 

bisectors of a cyclic quadrilateral is : 

1) cyclic quadrilateral 

2) rectangle 

3) square 

4) parallelogram  
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65. ;fn tanα + sinα = m rFkk        
tanα – sinα = n gks] rks (m2

 – n
2
) 

cjkcj gS % 

1) mn  

2) 
n

m
 

3) mn4  

4) mn2  

  

65. If tanα + sinα = m and                        

tanα – sinα = n, then (m
2
 – n

2
) 

equal to : 

1) mn  

2) 
n

m
 

3) mn4  

4) mn2  

66. nks la[;kvkas A o B dk vkSlr 20, B rFkk C 
la[;kvksa dk vkSlr 19 rFkk C o A dk 
vkSlr 21 gks] rks A dk eku gS % 

1) 24  

2) 22 

3) 20  

4) 18 

  

66. The average of two numbers A and 

B is 20 and B and C is 19 and C and 

A is 21. Then the value of A is : 

1) 24  

2) 22 

3) 20  

4) 18 

67. ;fn fdlh dwV Hkk"kk esa 'ACE' dks 1925 
rFkk BIG dks '48149' fy[kk tkrk gS] rks 
'DOG' dks mlh dwV Hkk"kk eas D;k fy[kk 
tk;sxk \ 

1) 41549  

2) 162259 

3) 1622549  

4) 1622249 

  

67. In a code language 'ACE' is written 

as 1925 and 'BIG' is written as 

'48149', then in the same language, 

'DOG' will be written as : 

1) 41549  

2) 162259 

3) 1622549  

4) 1622249 
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68. fuEu la[;k Js.kh dk vxyk in Kkr 
dhft, % 

 5, 10, 26, 50, 122, ? 

1) 154  

2) 162 

3) 170  

4) 178 

  

68. Find the next term of the following 

number series : 

 5, 10, 26, 50, 122, ? 

1) 154  

2) 162 

3) 170  

4) 178 

69. vlaxrvlaxrvlaxrvlaxr dks Kkr dhft, % 

1) estj  

2) duZy 

3) ,Mfejy  

4) fczxsfM;j 

  

69. Find the odd one : 

1) Major  

2) Colonel 

3) Admiral  

4) Brigadier 

70. ;fn A, B ls Hkkjh] C, D ls gYdk] E, D 
ls Hkkjh ijUrq B ls gYdk gS] rks buesa ls 
lcls Hkkjh dkSu gS \ 
 

1) B 2) D 

3) E 4) A 

  

70. If  A is heavier than B, C is lighter 

than D, E is heavier than D but 

lighter than B, who among them is 

the heaviest ? 

1) B 2) D 

3) E 4) A 

71. ;fn 15 iqLrdksa ds Ø; ewY;] 20 iqLrdksa 
ds foØ; ewY; ds cjkcj gks] rks gkfu 
izfr'kr gS % 

1) 20%  

2) 25% 

3) 30%  

4) 33
3

1
% 

  

71. If the cost price of 15 books is 

equal to the selling price of 20 

books, then the loss percent is : 

1) 20%  

2) 25% 

3) 30%  

4) 33
3

1
% 
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72. fuEufyf[kr Js.kh dk vxyk in gS % 
 

 G4T, J9R, M20P, P43N, ? 

1) S88L  

2) S90L 

3) S90M  

4) S88M 

  

72. The next term of the following 

series : 

 G4T, J9R, M20P, P43N, ? 

1) S88L  

2) S90L 

3) S90M  

4) S88M 

73. A, B dk iq= gS] B dh cgu C ds ,d iq= 
D rFkk ,d iq=h E gS] F, D dk ekek gS] 
rks A dk D ls D;k laca/k gS \ 
 

1) dftu  

2) HkkbZ 

3) pkpk  

4) firk 

  

73. A is the son of B. B's sister C has a 

son D and a daughter E. F is 

maternal uncle of D, then how A is 

related to D ? 

1) Cousin  

2) Brother 

3) Uncle  

4) Father 

74. ,d fuf'pr dwV Hkk"kk esa] 'PAGES' dks 
'RDIHU' rFkk 'WRITE' dks 'YUKWG' 
fy[kk tkrk gS] rks 'OTHER' dks mlh Hkk"kk 
eas fdl izdkj ls fy[kk tk;sxk \ 

1) QWJHT  

2) QWHJT 

3) QWHTJ  

4) QWTHJ 

  

74. In a certain code, 'PAGES' is 

written as 'RDIHU' and 'WRITE' is 

written as 'YUKWG', then 'OTHER' 

will be written as in same code : 

1) QWJHT  

2) QWHJT 

3) QWHTJ  

4) QWTHJ 
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75. 'BRAKES' 'kCn ds v{kjkas dks vaxzsth 
o.kZekyk ds vuqlkj tekus eas fdrus v{kjkas 
ds LFkku eas ifjorZu ughaughaughaugha gksxk \ 
 
1) 1 2) 2 

3) 3 4) 4 

  

75. The position of how many letters in 

the word 'BRAKES' remain 

unchanged when they are arranged 

in English alphabetical order ? 

1) 1 2) 2 

3) 3 4) 4 

76. ;fn P, + dks] Q, – dks] R, ÷ dks rFkk S, × dks 
bafxr djrk gS] rks  
 
18 S 36 R 12 Q 6 P 7 dk eku gS % 
1) 115 2) 85 

3) 55 4) 35 

  
76. If P stands for +, Q stands for –, R 

stands for ÷ and S stands for ×, then 

the value of  

18 S 36 R 12 Q 6 P 7 is : 
1) 115 2) 85 

3) 55 4) 35 

77. ;fn ba ××=×× 5.05.05.005.0  

gks]  rks 
b

a  dk eku gS % 

1) 0.0025  
2) 0.025 

3) 0.25  
4) 2.50 

  

77. If ,5.05.05.005.0 ba ××=××  

then 
b

a
 is equal to : 

1) 0.0025  
2) 0.025 

3) 0.25  
4) 2.50 

78. ;fn A iwoZ fn'kk dh vksj gS] rc og ?kM+h 
dh lwbZ dh fn'kk eas 100° ?kwe tkrk gS rFkk 
iqu% og 145° ij ?kM+h dh foijhr fn'kk eas 
?kwe tkrk gS] rks vc A fdl fn'kk dh 
vksj gS \ 

1) mÙkj   

2) iwoZ 

3) nf{k.k&if'pe  

4) mÙkj&iwoZ 

  

78. If A is facing east then he turn 100° 

in the clockwise direction and then 

again turn 145° in the anti-

clockwise direction. Which 

direction A is facing now ? 

1) North  

2) East 

3) South-West  

4) North-East 



[ 20 / A ] 

[ Level-1 / 1101 ]   

79. ;fn y dk x% dk eku 100 rFkk z dk 
y% dk eku 200 gks] rks x rFkk z eas 
laca/k gS % 
1) z = x/2  

2) z = 3x 

3) z = 2x  

4) z = 4x 

  

79. If x% of y is 100 and y% of z is   

200, then a relation between x and 

z is : 

1) z = x/2  

2) z = 3x 

3) z = 2x  

4) z = 4x 

80. ,d jkf'k 7 o"kks± eas pØo`f) C;kt dh nj 
ls 3 xquk gks tkrh gS] rks og jkf'k 27 
xquk fdrus o"kks± esa gksxh ¼tcfd nj leku 
gks½ \ 
1) 18 o"kks± esa 
2) 19 o"kks± esa 
3) 20 o"kks± esa 
4) 21 o"kks± esa 

  

80. In how many years will a sum 

become 27 times when it triples 

itself in 7 years at compound 

interest (when rates are same) ? 
1) 18 years 

2) 19 years 

3) 20 years 

4) 21 years 

81. ,f'k;kbZ [ksy 2023 esa O;fDrxr Li/kkZ esa 
Lo.kZ ind thrus okyh iyd xqfy;k 
gfj;k.kk ds fdl ftys ls gSa \ 
 
1) >Ttj 
2) than 
3) vEckyk 
4) xq#xzke 

  

81. Palak Gulia, who won a Gold Medal 

in the Asian Games 2023 in an 

individual event, belongs to which 

district of Haryana ? 

1) Jhajjar 

2) Jind 

3) Ambala 

4) Gurugram 

82. gfj;k.kk esa fdrus mi[k.M gSa \ 
 
1) 95  

2) 49 
3) 143  

4) 74 

  

82. How many Sub-Divisions are there in 

Haryana ? 

1) 95  

2) 49 
3) 143  

4) 74 
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83. f'kokfyd fodkl ,tsUlh dk eq[;ky; gS % 
 

1) iapdqyk esa 

2) vEckyk eas 

3) ;equkuxj esa 

4) dq#{ks= eas 

  

83. The headquarters of the Shivalik 

Development Agency is in : 

1) Panchkula 

2) Ambala 

3) Yamunanagar 

4) Kurukshetra 

84. gfj;k.kk dk og dLck] tks d`f"k midj.kkas 
ds fuekZ.k ds fy, izfl) gS % 
 

1) dykukSj 

2) cykuk 

3) nknjh 

4) leky[kk 

  

84. The town of Haryana, which is 

famous for manufacturing of 

agriculture instruments : 

1) Kalanaur 

2) Balaana 

3) Dadari 

4) Samalkha 

85. djksg pksVh dh Å¡pkbZ gS % 

1) 1400 ehVj ls vf/kd 

2) 1500 ehVj ls vf/kd 

3) 1600 ehVj ls vf/kd 

4) 1700 ehVj ls vf/kd 

  

85. The height of the Karoh Peak is : 

1) More than 1400 metre 

2) More than 1500 metre 

3) More than 1600 metre 

4) More than 1700 metre 

86. fuEufyf[kr eas ls fdl lwQ ðh lar us 
gfj;k.kk {ks= eas fp'rh flyflys dh LFkkiuk 
dh Fkh \ 

1) eksgEen cf[r;kj dkdh 

2) ckck Qjhnqíhu  

3) ulh#íhu egewn 

4) xslw njkt+ 

  
86. Who among the following Sufi Saints 

established Chisti order in Haryana 

region ? 

1) Mohammad Bakhtiar Kaki 

2) Baba Fariduddin 

3) Nasiruddin Mahmud 

4) Gesu Daraz 
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87. gfj;k.kk ds fuEufyf[kr jkT;ikyksa eas ls 
dkSu lafo/kku lHkk dk lnL; Hkh Fkk \ 
 

1) ljnkj gjpj.k flag cjkj  

2) Jh t;lq[k yky gkFkh 

3) Jh egkchj izlkn 

4) Jh ckcw jkekuUn 

  

87. Who among the following Governors 

of Haryana was also a member of the 

Constituent Assembly ? 

1) Sardar Harcharan Singh Barar 

2) Shri Jaisukh Lal Hathi 

3) Shri Mahabir Prasad 

4) Shri Babu Ramanand 

88. gfj;k.kk dk og ftyk] tgk¡ ,d jk"Vªh; 
m|ku fLFkr gS % 

1) jsokM+h 

2) than 

3) xq#xzke 

4) lksuhir 

  

88. The district of Haryana, where a 

National Park is located : 

1) Rewari 

2) Jind 

3) Gurugram 

4) Sonipat 

89. vk;fj'k lSfud] ftlus 18oha lnh ds 
vafre n'kd esa gfj;k.kk eas Lo;a dk jkT; 
LFkkfir fd;k % 
1) pkYlZ ,fy;V 
2) vkj0 gMlu 
3) ts0 FkkWel 
4) tkWtZ FkkWel 

  

89. The Irish soldier, who established his 

own Kingdom in Haryana in the last 

decade of 18th Century : 

1) Charles Eliot 

2) R. Hudson 

3) J. Thomas 

4) George Thomas 

90. fHkjkuk] ,d fla/kq&ljLorh ?kkVh LFky] 
vofLFkr gS % 
1) jksgrd esa 
2) fglkj eas 
3) Qrsgkckn eas 
4) vEckyk eas 

  

90. Bhirrana, an Indus – Saraswati valley 

site is located in : 

1) Rohtak 

2) Hisar 

3) Fatehabad 

4) Ambala 
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HkkxHkkxHkkxHkkx – IV / PART – IV 

xf.krxf.krxf.krxf.kr / MATHEMATICS 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

91. f'kf{kdk Nk=ksa dks dkxt ij iSekus 

(Ruler) vkSj isfUly dh lgk;rk ls dqN 

prqHkqZt cukus dks dgrh gSA fQj os mUgsa 

pk¡ns ¼izksVªSDVj½ ls prqHkZqtksa ds dks.kksa dks 

Kkr dj] izR;sd prqHkqZt ds dks.kksa dk ;ksx 

djus dks dgrh gSA Nk= ;g ikrs gSa fd 

izR;sd prqHkqZt ds dks.kksa dk ;ksx yxHkx 

360° ;k iwjk 360° gSA ;g mnkgj.k fdl 

f'k{k.k&fof/k dks n'kkZrk gS \ 

 

1) lkekU;hdj.k fof/k 

2) f'k{kd&dsfUnzr fof/k 

3) fuxeukRed fof/k 

4) vkxeukRed fof/k 

  
91. A teacher tells her students to 

draw a few quadrilaterals using a 

ruler and pencil on a sheet of 

paper. She tells them to find the 

sum of their angles by measuring 

each angle with a protractor and 

note it down. The students realize 

that the sum of angles is close to 

360° or 360° in each case. This is 

an example of which approach of 

teaching ? 

1) Generalization 

2) Teacher-Centric approach 

3) Deductive approach 

4) Inductive approach 
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92. ,d f=Hkqt ftldh rhuksa Hkqtk,¡ cjkcj gSa] 
dk {ks=Qy 4 3  oxZ lseh gSA bl f=Hkqt 
dh ifjeki D;k gksxh \ 
 
1) 10 lseh 2) 12 lseh 
3) 14 lseh 4) 16 lseh 

  
92. A triangle with three equal sides 

has its area equal to 4 3  square 

cm. What will be the perimeter of 

this triangle ? 

1) 10 cm 2) 12 cm 
3) 14 cm 4) 16 cm 

93. ;fn ],6)54[(3,
6

5

4

3
÷÷÷=÷= yx  

6)]54(3[ ÷÷÷=z  vkSj w = 3 ÷ 4      

(5 ÷ 6), rks % 

1) x vkSj w cjkcj gSaA 

2) lHkh cjkcj gSaA 

3) x vkSj y cjkcj gSaA 

4) x vkSj z cjkcj gSaA 

  

93. If ],6)54[(3,
6

5

4

3
÷÷÷=÷= yx  

6)]54(3[ ÷÷÷=z  and w = 3 ÷ 4      

(5 ÷ 6), then : 

1) x and w are equal. 

2) All are equal. 

3) x and y are equal. 

4) x and z are equal. 

94. ;fn ,
27

1

23

)27(})3{(39
33

22/2

=
×

−××
−−

m

nnn

 

rks m – n dk eku Kkr dhft, % 

1) –2 2) 1 

3) –1 4) 2 

  
94. Find the value of m – n, if 

27

1

23

)27(})3{(39
33

22/2

=
×

−××
−−

m

nnn

 : 

1) –2 2) 1 

3) –1 4) 2 
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95. xf.kr i<+krs gq, ,d v/;kfidk bl dFku 
ij igq¡prh gS % ßA dk fufgrkFkZ B gSÞA 
bldk vFkZ gS % 

1) B gksus ds fy, A vko';d izfrcU/k 
gSA 

2) A gksus ds fy, B vko';d izfrcU/k 
gSA 

3) B gksus ds fy, A i;kZIr izfrcU/k gSA 

4) B gksus ds fy, A vko';d vkSj 
i;kZIr izfrcU/k nksuksa gSA 

  
95. While teaching mathematics, a 

teacher arrives at a statement : "A 

implies B". This means : 

1) A is a necessary condition for 

B. 

2) B is a necessary condition for 

A. 

3) A is sufficient condition for B. 

4) A is both necessary and 

sufficient condition for B. 

96. ;fn fdlh la[;k eas ls 35 ?kVk fn;k tk,] 
rks og 80% jg tkrh gSA la[;k dk 










5

4 ok¡ Hkkx D;k gS \ 

1) 70  

2) 90 

3) 120  

4) 140 

  
96. If 35 is subtracted from a number, 

reduces to its 80%. What is 








5

4
th 

of that number ? 

1) 70  

2) 90 

3) 120  

4) 140 
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97. ;fn fdlh fo|kFkhZ dks T;kfefr ds izes;ksa 
ij vk/kkfjr iz'u gy djus eas dfBukbZ 
gksrh gS] rks fuEufyf[kr esa ls fdl fof/k 
dks f'k{kd dks viukuk pkfg, \ 
 
 

1) fo|kFkhZ dks nf.Mr djuk rkfd og 
xyrh u nksgjk,A 
 

2) fo|kFkhZ dks izes; jVus ds fy, dgukA 
 

3) cgqlaosnh ekWMy vkSj f'k{k.k lkexzh ds 
mi;ksx ls fofHkUu T;kferh; izes;ksa dks 
le>us eas vkSj muds vuqiz;ksx eas 
fo|kFkhZ dh lgk;rk djukA 

4) fo|kFkhZ dks gy dh xbZ leL;kvksa ds 
pj.kksa dks ';keiê ls ns[kdj fy[kus 
ds fy, vkSj bl iz.kkyh dk vuqiz;ksx 
leku izdkj dh leL;kvksa esa djus ds 
fy, dgukA 

  
97. If a student finds difficulty in 

applying geometrical theorems to 

solve a given problem in 

geometry, then which  is the most 

appropriate strategy that the 

teacher should adopt ? 

1) Punish the student so that 

he/she does not repeat the 

mistake. 

2) Ask the student to rote 

memorise the theorem. 

3) Use multisensory models and 

teaching aids to help student 

understand various theorems 

and their applications.  

4) Tell the student to copy the 

steps of solved problems from 

the blackboard and apply the 

method for similar problems. 
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98. 15 ehVj 17 lseh yEcs vkSj 9 ehVj 
2 lseh pkSM+s ,d dejs ds Q'kZ dks iDdk 
djus ds fy, vko';d oxkZdkj Vkbyksa dh 
U;wure la[;k fdruh gS \ 

1) 814  

2) 820 

3) 840  

4) 841 

  
98. What is the least number of square 

tiles required to pave the floor of a 

room 15 m 17 cm long and 9 m 

2 cm broad ? 

1) 814  

2) 820 

3) 840  

4) 841 

99. ABCD ,d leprqHkZqt gS] ftleas    

∠BAC = 50° gS] rc 3∠D – 2 ∠DAC 

cjkcj gS % 

1) 120°  

2) 140° 

3) 150°  

4) 160° 

  

99. ABCD is a rhombus in which    

∠BAC = 50°, then 3∠D – 2 ∠DAC is 

equal to : 

1) 120°  

2) 140° 

3) 150°  

4) 160° 
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100. ;fn 10 lseh f=T;k okys ,d o`Ùk eas ,d 
leckgq f=Hkqt ABC cuk;k tkrk gS] rks 
f=Hkqt ABC dh ,d Hkqtk dh yEckbZ gS % 

1) 10 lseh 

2) 10 3  lseh 

3) 10 2  lseh 

4) 
3

10 lseh 

  
100. If one equilateral triangle ABC is 

made in a circle of radius 10 cm, 

then the length of a side of triangle 

ABC is : 

1) 10 cm 

2) 10 3  cm 

3) 10 2  cm 

4) 
3

10
 cm 

101. ,d f'k{kd ,d o`Ùkkdkj dkxt dks 
irys&irys f=T;[k.Mksa esa dkVrk gS vkSj 
mUgas vk;r cukus ds fy, lajsf[kr djrk 
gSA ;g ,d xfrfof/k gS] tks .......... 
O;qRiUu djus ds rjhds dks n'kkZrh gSA 

1) o`Ùk dh ifjf/k 

2) o`Ùk ds {ks=Qy dk lw= 

3) o`Ùk dk O;kl 

4) o`Ùk dk vk;r esa :ikUrj.k 

  
101. A teacher cuts a circular paper 

into thin sectors and aligns them to 

form rectangle. This is an activity 

to illustrate a way to derive ......... . 

1) Circumference of the circle 

2) Formula for area of the circle 

3) Diameter of the circle 

4) Transformation of circle to 

rectangle 
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102. fuEufyf[kr esa ls dkSu&lk xf.kr 
iz;ksx'kkyk dk mís'; ughaughaughaugha gks ldrk \ 

1) ewrZ f'k{k.k&vf/kxe lkexzh ds mi;ksx 
}kjk Nk=ksa dks xf.krh; vo/kkj.kkvksa 
dks le>us eas lgk;rk djukA 

2) Nk=ksa dks xf.kr dh ijh{kk dh rS;kjh 
ds fy, ,d LFkku lqfuf'pr djokukA 

3) Nk=ksa dh xf.kr vf/kxe ds izfr #fp 
vkSj mRlkg c<+kukA 

4) [ksy] igsfy;ksa vkSj fun'kZ ¼ekWMy½ dk 
mi;ksx djrs gq, xf.krh; 
leL;k&lek/kku ij dsfUnzr xfrfof/k;k¡ 
djokukA 

  
102. Which of the following may not be a 

purpose of Mathematics Lab ? 

1) To help students comprehend 

mathematical concepts 

effectively by utilizing 

concrete teaching learning 

material. 
2) To give space for students to 

prepare for mathematical test. 
3) To enhance their interest and 

motivation in learning 

mathematics. 
4) To conduct activities focussed 

at mathematical problem 

solving using games, puzzles 

and models. 

103. ;fn 21
1

=−
a

a ] tgk¡ a > 0, rks 









+








+

a
a

a
a

11
2

2  dk eku gS % 

 

1) 113 2) 115 

3) 114 4) 110 

  

103. If 21
1

=−
a

a ] where a > 0, then 

the value of 







+








+

a
a

a
a

11
2

2  is 

equal to : 

1) 113 2) 115 

3) 114 4) 110 
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104. ,d xf.kr dh d{kk esa i<+krs gq, v/;kid 
dgrk gS] ßnks iw.kk±dksa dk loZfu"B Hkktd 
¼lkoZHkktd½ og la[;k gS tks fd nksuksa fn, 
x, iw.kk±dksa dks foHkkftr djrh gSAÞ rks ;g 
gS ,d % 
 

1) izLrko 

2) ifjHkk"kk 

3) Lo;afl) 

4) eqDr okD; 

  
104. While teaching in a mathematics 

class, a teacher gives the 

statement "Common Divisor of two 

integers is a number which 

divides both the given integers". 

The statement is a : 

1) Proposition 

2) Definition 

3) Axiom 

4) Open Sentence 

105. izs{k.kksa 15, 50, 120, 6, 80, 100, 10, 8, 

10, 15, 15 ds ifjlj] cgqyd vkSj 

ekf/;dk dk ek/; gS % 

1) 48  

2) 39 

3) 52  

4) 51 

  
105. The mean of the range, mode and 

median of the observations 15, 50, 

120, 6, 80, 100, 10, 8, 10, 15, 15 is : 

1) 48  

2) 39 

3) 52  

4) 51 
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106. ßxf.kr] rdZ izo`fÙk dks eu esa O;ofLFkr 

djus dk@clkus dk ,d rjhdk gSÞ] ;g 

ifjHkk"kk nh xbZ gS % 

1) ykWd }kjk 

2) xSyhfy;ks }kjk 

3) czwuj }kjk 

4) usiksfy;u }kjk 

  
106. The definition "Mathematics is a 

way to settle in the mind, a habit of 

reasoning" is given by : 

1) Locke  

2) Galileo 

3) Bruner  

4) Napoleon 

107. ;fn 4m2
 + 10mn – 8m + 9n

2
 – 12n 

= (am + bn) (am + bn – 4), rks             

a
3
 + b

3
 dk eku gS % 

1) 13  

2) 25 

3) 35  

4) 10 

  

107. If 4m
2
 + 10mn – 8m + 9n

2
 – 12n 

= (am + bn) (am + bn – 4), then the 

value of a
3
 + b

3
 is : 

1) 13  

2) 25 

3) 35  

4) 10 
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108. fuEufyf[kr eas ls dkSu&lk xf.krh; izes; 
ds lUnHkZ eas lgh ughaughaughaugha gS \ 
1) ;s dqN fuf'pr xf.krh; rF;ksa ds ckjs 

eas lR;rk ds lkekU;hd`r dFku gSaA 
 

2) bUgas xf.krh; :i ls fl) fd;k tk 
ldrk gSA 

3) fdlh Hkh izes; dks fl) djus dk 
,dek= rjhdk gksrk gSA 

4) vizekf.kr izes;ksa dks vuqeku 
(Conjectures) dgrs gSaA 

  
108. Which of the following is not true 

about a mathematical theorem ? 

1) They are generalized 

statements of truth about 

certain mathematical facts. 

2) They can be proved 

mathematically. 
3) There is only one way to prove 

any theorem. 

4) Unproved theorems are called 

conjectures. 

109. xf.kr v/;kiu dk dkSu&lk rjhdk buesa ls 
lcls vPNk gS \ 
 
1) dsoy dfe;k¡ ns[kdj mruk gh i<+kuk 

 
2) f'k{kkfFkZ;ksa dks mudh {kerkvksa dks 

fodflr djus ds fy, izksRlkfgr djuk 
 

3) dsoy xSIl ns[kdj mUgsa nwj djuk 
 

4) gj f'k{kkFkhZ dks ,dgh rjg ls i<+kuk 

  
109. Which among the following is the 

best pedagogical way to teach 

mathematics ? 

1) Find the weakness and teach 

only those parts 

2) Motivate the learners to 

develop their existing 

capabilities 
3) Find the gaps and address 

only them 

4) Teach every student with the 

same approach 
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110. fdlh yEco`Ùkh; csyu ds vk/kkj dk 
ifjeki 44 lseh gS rFkk Å¡pkbZ 8 lseh gS] 
rc bl csyu dk vk;ru gS %  

¼π =
7

22  yhft, ½ 

1) 1212 lseh3 2) 1232 lseh3 

3) 1412 lseh3 4) 1432 lseh3 

  
110. The perimeter of the base of a 

right circular cylinder is 44 cm 

and its height is 8 cm. Then, 

volume of the cylinder is : 

¼Take π =
7

22 ½  

1) 1212 cm
3 

2) 1232 cm
3 

3) 1412 cm
3 

4) 1432 cm
3 

111. ekuk y = 597 × 1022 + 73.5 × 1021, tc 
y dks ekud :i 6.0435 × 10

n
 esa O;Dr 

fd;k tk,] rks n dk eku gS % 
 

1) 22 2) 23 

3) 24 4) 21 

  
111. Let y = 597 × 10

22
 + 73.5 × 10

21
. 

When y is expressed in standard 

form as 6.0435 × 10
n
, then the 

value of n is : 

1) 22 2) 23 

3) 24 4) 21 

112. ;fn x2 + x – 12 vkSj 2x2 – ax – 9 dk 
e0l0i0 (x – a) gks] rks 'a' dk eku gS % 
 

1) 3 2) –3 

3) –4 4) 4 

  
112. If (x – a) is the HCF of x

2
 + x – 12 

and 2x
2
 – ax – 9, then the value of 

'a' is : 

1) 3 2) –3 

3) –4 4) 4 
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113. Hkqtkvksa 24 lseh] 25 lseh vkSj 7 lseh okys 

,d f=Hkqt dk {ks=Qy 14 lseh yEckbZ okys 

,d vk;r ds {ks=Qy ds cjkcj gS] rc 

ml vk;r dk ifjeki gS % 

 

1) 20 lseh 2) 18 lseh 

3) 36 lseh 4) 40 lseh 

  
113. Area of triangle of sides 24 cm, 

25 cm and 7 cm is equal to the 

area of a rectangle of length 

14 cm, then perimeter of the 

rectangle is : 

1) 20 cm 2) 18 cm 

3) 36 cm 4) 40 cm 

114. vfHkx`ghr (Axiom) ds fy, fuEufyf[kr 

esa ls dkSu&lk lokZf/kd mfpr gS \ 

1) vfHkx`ghr dFku chth; loZlfedkvksa 

ls lacaf/kr dFku gksrs gSaA 

2) vfHkx`ghr xf.kr ds ,sls rF; gksrs gSa 

ftUgsa fl) ;k vfl) ugha fd;k tk 

ldrk gSA 

3) vfHkx`ghr lk/; gSa tks izes; ds leku 

gksrs gSaA 

4) vfHkx`ghr dsoy ifjHkk"kk,¡ gksrh gSaA 

  
114. Which of the following is most 

appropriate for an axiom ? 

1) These are statements about 

algebraic identities.  

2) These are mathematical truths 

which cannot be proved or 

disproved. 

3) Axioms are propositions 

similar to theorem. 

4) Axioms are only definitions. 
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115. A vkSj B dh vk; 3 : 2 ds vuqikr esa gS 
vkSj mudk O;; 5 : 3 ds vuqikr eas gSA 
;fn izR;sd 2500 #0 cpkrk gS] rks B dk 
O;; gS % 
 

1) 8000 #0 2) 7500 #0 

3) 8500 #0 4) 7000 #0 

  
115. The income of A and B are in the 

ratio of 3 : 2 and their expenditure 

in the ratio of 5 : 3. If each saves 

Rs. 2500, then the expenditure of B 

is : 

1) Rs. 8000 2) Rs. 7500 

3) Rs. 8500 4) Rs. 7000 

116. 20 oLrqvksa dk Ø; ewY; x oLrqvksa ds 
foØ; ewY; ds cjkcj gSA ;fn ykHk 25% 
gS] rks x dk eku gS % 

1) 15 2) 16 

3) 18 4) 25 

  

116. Cost price of 20 articles is equal to 

selling price of x articles. If the 

profit is 25%, then the value of x is : 

1) 15 2) 16 

3) 18 4) 25 

117. ;fn ,d prqHkqZt ds lHkh dks.k 180° ls 
de gksa] rks og prqHkqZt gS % 
 

1) mÙky prqHkqZt 

2) vory prqHkqZt 

3) lekUrj prqHkqZt 

4) leyEc prqHkqZt 

  
117. If all the angles of a quadrilateral 

are less than 180°, then the 

quadrilateral is a : 

1) Convex quadrilateral 

2) Concave quadrilateral 

3) Parallelogram 

4) Trapezium 
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118. nks la[;kvksa a vkSj b dk e0l0i0 vkSj 
y0l0i0 Øe'k% 6 vkSj 210 gSaA ;fn 

a + b = 72, rks =+
ba

11  

1) 
35

1  2) 
35

3
 

3) 
37

5  4) 
35

2  

  
118. The HCF and LCM of two numbers 

a and b are respectively 6 and 

210. If a + b = 72, then =+
ba

11  

1) 
35

1  2) 
35

3
 

3) 
37

5  4) 
35

2  

119. ;fn 2x = 5y = (10)–z] rks =++
zyx

111  

1) 
32

7
 2) 0 

3) 
16

7
 4) 

48

7  

  

119. If 2
x
 = 5

y
 = (10)

–z] then =++
zyx

111  

1) 
32

7
 2) 0 

3) 
16

7
 4) 

48

7  

120. 10 ds xq.ku[kaMksa dk ek/; gS % 

1) 4 2) 4.5 

3) 5 4) 5.5 

  

120. The mean of the factors of 10 is : 

1) 4 2) 4.5 

3) 5 4) 5.5 
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HkkxHkkxHkkxHkkx – V / PART – V 

i;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;u / ENVIRONMENTAL STUDIES 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

121. dkWyedkWyedkWyedkWye&&&&vvvv vkSj dkWyedkWyedkWyedkWye&&&&cccc ds inksa ij fopkj 
djsa % 
dkWye&dkWye&dkWye&dkWye&vvvv dkWye&dkWye&dkWye&dkWye&cccc 
izksVhu foVkfeu B1, B2, B6, B12 
phuh dSfYl;e 
dkcksZgkbMªsV ÅtkZ 
foVkfeu nky ¼iYl½ 
[kfut Xywdkst 
dkWyedkWyedkWyedkWye&&&&cccc esa dkSu&lh ifjHkk"kk dkWyedkWyedkWyedkWye&&&&vvvv esa 
^[kfut* ls esy [kkrh gS \ 
 
1) foVkfeu B1, B2, B6, B12 
2) dSfYl;e 
3) ÅtkZ 
4) nky ¼iYl½ 

  
121. Consider the terms in Column-A 

and Column-B : 

Column-A  Column-B 

Protein Vitamin B1, B2, B6, B12 

Sugar Calcium 

Carbohydrates Energy 

Vitamins Pulses (Dal) 

Minerals Glucose 

What definition in Column-B 

corresponds to 'Minerals' in 

Column-A ? 

1) Vitamin B1, B2, B6, B12 
2) Calcium 
3) Energy 

4) Pulses (Dal) 

122. ok;q dk fuEufyf[kr esa ls dkSu&lk ?kVd 
ok;qe.My esa lcls cM+h ek=k esa ekStwn gS \ 
 
1) ukbVªkstu 
2) vkWDlhtu 
3) tyok"i 
4) dkcZu MkbvkWDlkbM 

  122. Which of the following components 

of air is present in the largest 

amount in the atmosphere ? 

1) Nitrogen 

2) Oxygen 

3) Water vapour 

4) Carbon dioxide 

123. vkykspukRed lksp vkSj iwNrkN vk/kkfjr 
f'k{kk dks izksRlkfgr djus ds fy;s EVS eas 
dkSu&lk f'k{k.k n`f"Vdks.k lcls izHkkoh     
gS \ 
1) O;k[;ku&vk/kkfjr funsZ'k 
2) f'k{kd dsfUnzr n`f"Vdks.k 
3) vuqHkokRed f'k{kk vkSj ppkZ,¡ 
4) ekudhd`r ijh{k.k 

  
123. Which teaching approach is most 

effective in EVS to encourage 

critical thinking and Inquiry based 

learning ? 

1) Lecture-based instruction  

2) Teacher centered approach 

3) Experimental learning and 

discussions 

4) Standardized testing 
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124. EVS jksy&Iys xfrfof/k eas bldh lQyrk 
lqfuf'pr djus ds fy;s f'k{kdksa dks D;k 
djuk pkfg;s \ 
1) Nk=ksa ds dk;ks± vkSj fu.kZ;ksa ij 

vizR;{k izHkko MkyukA 
2) Nk=kas ds vuqlj.k djus ds fy, ,d 

dBksj fLØIV iznku djukA 
3) Nk=kas dks fofHkUu Hkwfedk,¡ ryk'kus 

vkSj vius fu.kZ; Lo;a ysus dh 
vuqefr nsukA 

4) Nk=ksa dks lfØ; :i ls Hkkx ysus ls 
grksRlkfgr djukA 

  124. In an EVS role-play activity, what 

should teachers do to ensure its 

success ? 

1) Overdirect students' actions 

and decisions. 

2) Provide a rigid script for 

students to follow. 

3) Allow students to explore 

various roles and make their 

own decisions. 

4) Discourage students from 

participating actively. 

125. fuEufyf[kr esa ls dkSu&lk foVkfeu fdlh 
chekjh ;k fLFkfr ls lgh <ax ls esy ughaughaughaugha 
[kkrk gS] tks bls jksdus ;k de djus esa 
enn dj ldrk gS \ 
1) foVkfeu C & LdohZ 
2) foVkfeu D & fjdsV~l 
3) foVkfeu A & jrkSa/kh 
4) foVkfeu K & {k; jksx 

  125. Which of the following vitamins is 
not correctly matched with a 

disease or condition that can help  

to prevent or alleviate it ? 

1) Vitamin C - Scurvy 

2) Vitamin D - Rickets 

3) Vitamin A - Night Blindness 

4) Vitamin K - Tuberculosis 

126. dbZ rki fo|qr la;a= vkerkSj ij dks;ys 
;k rsy {ks=ksa ds ikl D;ksa LFkkfir fd;s tkrs   
gSa \ 
1) thok'e bZa/ku ds tyus ls gksus okys 

ok;q izs"k.k dks de djukA 
2) fo|qr izs"k.k dh n{krk esa lq/kkj   

djukA 
3) fctyh mRiknu esa ikuh dh 

vko';drk dks de djukA 
4) dks;yk ;k isVªksfy;e dk vf/kd 

vklkuh ls ifjogu djukA 

  126. Why are many thermal power 
plants typically set up near coal or 

oil fields ? 

1) To reduce air pollution from 

burning of fossil fuels. 

2) To improve the efficiency of 

electricity transmission. 

3) To minimize the need of water 

in power generation. 

4) To transport coal or petroleum 

more easily. 
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127. fuEufyf[kr esa ls dkSu&lh lkexzh vkerkSj 
ij taxyksa ls izkIr ydM+h ls izkIr ughaughaughaugha gksrh 
gS \ 

1) dkxt 

2) FkeksZdksy 

3) ekfpl dh rhfy;k¡ 
4) IykbZoqM 

  127. Which of the following material is 

not typically derived from wood 

obtained from forests ? 

1) Paper 

2) Thermocol 

3) Matchsticks 

4) Plywood 

128. ;fn vki oLrqvksa dks oxhZÑr djus ds fy, 
pqEcdh; vkd"kZ.k ds xq.k dk mi;ksx djrs 
gSa] rks ydM+h vkSj yksgs dh estksa ds fy, 
ifj.kke D;k gksxk \ 
1) ydM+h vkSj yksgs dh estsa nksuksa ,d 

lewg esa gksaxhA 
 

2) ydM+h dh est vkdf"kZr gksxh tcfd 
yksgs dh ughaA 
 

3) ydM+h vkSj yksgs dh estsa vyx&vyx 
lewgksa esa gksaxhA 
 

4) ydM+h vkSj yksgs dh nksuksa estsa pqEcd 
}kjk izfrdf"kZr gksaxhA 

  128. If you use the property of 

magnetic attraction to classify 

objects, what would be the result 

for Wooden and Iron tables ? 

1) Both Wooden and Iron tables 

would belong to the same 

group. 

2) The Wooden table would be 

attracted, while the Iron table 

would not. 

3) The Wooden and Iron tables 

would belong to different 

groups. 

4) Both Wooden and Iron tables 

would be repelled by the 

magnet. 

129. fo'o ds ouksa vkSj muds egÙo ds ckjs esa 
tkx:drk c<+kus vkSj t'u eukus ds fy;s 
21 ekpZ dks dkSu&lk i;kZoj.k tkx:drk 
fnol euk;k tkrk gS \ 
 
1) fo'o i;kZoj.k fnol 
2) fo'o osVyS.M fnol 
3) Hkksiky =klnh fnol 
4) fo'o ou fnol 

  129. Which environmental awareness 

day is observed on March 21st to 

celebrate and raise awareness 

about the World's Forest and their 

significance ? 

1) World Environment Day 
2) World Wetland Day 
3) Bhopal Tragedy Day 

4) World Forest Day 
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130. i;kZoj.k laj{k.k ds ckjs eas i<+krs le; 
lh[kus dh izfØ;k esa lgkuqHkwfr D;k Hkwfedk 
fuHkkrh gS \ 
 
1) lgkuqHkwfr EVS f'k{k.k ds fy;s 

izklafxd ugha gSA 
2) lgkuqHkwfr i;kZoj.kh; leL;kvksa ds 

oLrqfu"B fo'ys"k.k eas ck/kk Mkyrh    
gSA 

3) lgkuqHkwfr Nk=ksa dks dkjZokgh djus ls 
grksRlkfgr djrh gSA 

4) i;kZoj.kh; eqn~nksa esa lHkh fgr/kkjdksa ds 
n`f"Vdks.k dks le>us ds fy;s 
lgkuqHkwfr vko';d gSA 

  130. While teaching about environmental 

conservation, what role does 

empathy play in the learning 

process ? 

1) Empathy is not relevant to EVS 

teaching. 

2) Empathy hinders objective 

analysis of environmental 

problems. 

3) Empathy discourages students 

from taking action. 

4) Empathy is essential for 

understanding the perspectives 

of all stakeholders in 

environmental issues. 

131. fuEufyf[kr eas ls dkSu&lk ikuh dk lzksr 
ty lzksrksa ds lUnHkZ eas ßifjokj ds lnL;Þ 
dh vo/kkj.kk ls lcls vf/kd fudVrk ls 
lEcfU/kr gS \ 
1) unh 2) rkykc 
3) leqnz 4) dqvk¡ 

  
131. Which of the following source of 

water is most likely to be closely 

related to the concept of a "Family 

Member" in terms of water sources ? 

1) River 2) Pond 

3) Sea 4) Well 

132. fofHkUu {ks=ksa eas vf}rh; i;kZoj.kh; 
pqukSfr;ksa vkSj voljksa dk lek/kku djus 
ds fy;s f'k{kd EVS f'k{k.k dks dSls viuk 
ldrs gSa \ 
1) i;kZoj.k f'k{kk ds fy, lHkh ds fy;s 

mi;qDr n`f"Vdks.k dk mi;ksx djdsA 
2) ikB~;Øe esa fLFkjrk cuk;s j[kus ds 

fy;s {ks=h; erHksnksa dks njfdukj djrs 
gq,A 

3) i;kZoj.kh; eqn~nksa eas Nk=ksa dks LFkkuh; 
lUnHkZ] dsl v/;;u esa 'kkfey djdsA 
 

4) {ks=h; i;kZoj.kh; fparkvkas ij ppkZ ls 
cpdjA 

  
132. How can teachers adapt EVS 

teaching to address the unique 

environmental challenges and 

opportunities in different regions ? 

1) By using fit for all approach to 

Environmental education. 

2) By ignoring regional 

differences to maintain 

consistency in curriculum. 

3) By incorporating local context, 

case studies, and involving 

students in local environmental 

issues. 

4) By avoiding discussions on 

regional environmental 

concerns. 
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133. fdlh fLFkfr ds fy, ÅtkZ dk lzksr pqurs 
le;] dkSu&ls dkjd fu.kZ; dks lcls 
vf/kd izHkkfor djrs gSa \ 
1) lzksr ds dkj.k gksus okyh i;kZoj.k 

{kfr 
2) lzksr ls ÅtkZ fudkyus esa vklkuh 
3) izkS|ksfxdh dh n{krk 
4) ÅtkZ fu"d"kZ.k dk vFkZ'kkL= 

  

133. When choosing a source of energy 
for a given situation, which factors 
influence the decision most ? 

1) The environmental damage 
caused by the source 

2) The ease of extracting energy 
from source 

3) The technology's efficiency 

4) The economics of energy 
extraction 

134. ikS/kkas] tkuojksa vkSj lw{ethoksa dh lHkh 
iztkfr;kas lfgr i`Foh ij thou dh 
fofo/krk dks D;k dgk tkrk gS \ 
1) tSo fofo/krk 
2) ikfjfLFkfrdh ra= 
3) tyok;q ifjorZu 
4) iznw"k.k 

  

134. What is the term for the variety of 

life on Earth, including all species 

of plants, animals and micro 

organisms ? 

1) Biodiversity 

2) Ecosystem 

3) Climate Change 

4) Pollution 

135. ÅtkZ LFkkukarj.k dk nl izfr'kr fu;e 
fyaMjeSu }kjk fdl o"kZ eas fn;k x;k Fkk \ 
 
1) 1924 2) 1942 
3) 1956 4) 1842 

  135. Ten Percent Law of energy 

transfer was given by Linderman 

in the year :  

1) 1924 2) 1942 
3) 1956 4) 1842 

136. ln~Hkko vkSj le> dks c<+kok nsus ds fy;s 
fofHkUu [kk| izkFkfedrkvksa dh ljkguk 
djus dh vo/kkj.kk dks nSfud thou eas 
dSls ykxw fd;k tk ldrk gS \ 
1) bl ckr ij tksj nsdj fd lHkh dh 

ilan vkSj ukilan ,d tSlh gksuh 
pkfg,A 

2) fofHkUu O;atdksa dh [kkst vkSj lk>k 
djds vkSj nwljkas ds Hkkstu fodYikas 
dk lEeku djdsA 

3) [kkus dks ysdj gksus okys >xM+ksa ls 
cpus ds fy, ifjokj vkSj nksLrksa ds 
lkFk [kkuk u [kkukA 

4) Hkkstu fodYikas eas lkaLd`frd vkSj 
{ks=h; fofo/krkvksa dks utjvankt 
djdsA 

  
136. How can the concept of 

appreciating different food 

preferences be applied in daily 

life to promote harmony and 

understanding ? 

1) By insisting that everyone 

should have same likes and 

dislikes. 

2) By exploring and sharing 

different cuisines and 

respecting other food choices. 

3) By not eating with family 

friends to avoid conflicts over 

food. 

4) By ignoring cultural and 

regional variations in food 

choices. 
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137. Ldwy ds jkLrs esa ?kus taxy ls xqtjrs le; 
of.kZr izkFkfed laosnh vuqHko D;k gS \ 
 
 
1) isM+ksa ls Nudj vkrh rst /kwi 
 
2) fcuk fdlh izkÑfrd /ofu ds iw.kZ   

ekSu 
3) iSjksa ds uhps iÙkksa dh ljljkgV 
 

4) fofHkUu if{k;ksa vkSj izkf.k;ksa dh 
vkoktsa 

  137. What is the primary sensory 

experience described when 

moving through the thick forest on 

the way to school ? 

1) Bright sunlight filtering 

through the trees 

2) Complete silence with no 

natural sounds 

3) The rustling of leaves 

underfoot 

4) The sounds of various birds 

and creatures 

138. lhojst esa ikbZ tkus okyh v'kqf);ksa dh 
eq[; Jsf.k;k¡ D;k gSa \ 
1) cSDVhfj;k vkSj ok;jl 
2) dkcZfud vkSj vdkcZfud v'kqf);k¡ 
 
3) Bksl vkSj rjy inkFkZ 
4) yo.k vkSj [kfut 

  
138. What are the main categories of 

impurities found in sewerage ? 

1) Bacteria and viruses 

2) Organic and inorganic 

impurities 

3) Solid and liquid material 

4) Salts and minerals 

139. EVS f'k{k.k ds lUnHkZ eas ekiu dk rkRi;Z 
D;k gS \ 
1) Nk=kas dks vR;f/kd lgk;rk iznku 

djukA 
2) tSls&tSls Nk= dkS'ky vkSj Kku izkIr 

djrs gSa] leFkZu /khjs&/khjs de gksrk 
tkrk gSA 

3) fu/kkZfjr ikB~;Øe dk dBksjrk ls 
ikyu djukA 

4) Nk=kas dks muds lkfFk;ksa ls vyx 
djukA 

  139. In the context of EVS teaching, 

what does scaffolding refer to ? 

1) Providing excessive help to 

students. 

2) Gradually reducing support as 

students gain skills and 

knowledge. 

3) Rigidly adhering to a set 

curriculum. 

4) Isolating students from their 

peers. 
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140. NEP 2020, EVS f'k{k.k esa ewY;kadu 
fof/k;ksa dks dSls izHkkfor djrk gS \ 
 
1) ;g fo'ks"k :i ls ekudhd`r ewY;kadu 

ykxw djrk gSA 
2) ;g i;kZoj.kh; vo/kkj.kkvksa ds ckjs esa 

Nk=ksa dh le> dks ekius ds fy, 
izkekf.kd ewY;kadu dks c<+kok nsrk    
gSA 

3) ;g EVS f'k{k.k eas fdlh Hkh izdkj 
ds ewY;kadu dks grksRlkfgr djrk gSA 

4) ;g Lej.k&vk/kkfjr ewY;kadu ij 
dsfUnzr gSA 

  

140. How does NEP 2020, impact 

assessment method in EVS 

teaching ? 

1) It enforces standardised 

assessment exclusively. 

2) It promotes authentic 

assessments to gauge students 

understanding of environmental 

concepts. 

3) It discourages any form of 

assessment in EVS teaching. 

4) It focused on memorization 

based assessment. 

141. vleku Hkkstu forj.k ds lUnHkZ esa] 
lqiksf"kr cPpksa dh rqyuk dqiks"k.k] chekjh 
vkSj Hkw[k ls ihfM+r cPpksa ls djrs le; 
fdl eqn~ns ij ppkZ gksus dh lcls vf/kd 
laHkkouk gS \ 
 
1) LokLF; lqfo/kkvksa rd igq¡p 
2) lkekftd vkfFkZd dkjd 
3) tyok;q ifjorZu ds izHkko 
4) rduhdh izxfr 

  

141. In the context of unequal food 

distribution, which issue is most 

likely to be discussed when 

comparing wellfed children with 

those suffering from malnutrition, 

disease and hunger ? 

1) Access to healthcare facilities 
2) Socioeconomic factors 
3) Climate change impacts 

4) Technological advancements 

142. ikuh dh vuks[kh fo'ks"krk D;k gS \ 
 
1) ty izd`fr dk eq[; vkSj vifjorZuh; 

rÙo gSA 
2) ty ds fofHkUu :i gSa vkSj ;g thou 

ds fy;s vko';d gSA 
3) ikuh dsoy ufn;ksa vkSj >juksa eas 

ekStwn gSA 
4) ikuh eq[; :i ls nqfu;k esa nqHkkZX; dk 

dkj.k curk gSA 

  142. What is the unique feature about 

water ? 

1) Water is salient and 

unchanging element of nature. 

2) Water has various forms and 

essential for life. 

3) Water is only present in rivers 

and waterfalls. 

4) Water primarily causes 

misfortune in the world. 
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143. ,d ikfjfLFkfrdh ra= eas % 
(i) ÅtkZ dk izokg ,d fn'kkRed gksrk gSA 

 
(ii) lkexzh dk izokg ,d fn'kkRed gksrk gSA 

 
(iii) lkexzh dk izokg pØh; gksrk gSA 
(iv) ÅtkZ dk izokg pØh; gksrk gSA 
1) (i) ,oa (ii) 2) (ii) ,oa (iii) 
3) (i) ,oa (iv) 4) (i) ,oa (iii) 

  143. In an ecosystem : 

(i) the flow of energy is 

unidirectional. 
(ii) the flow of materials is 

unidirectional. 
(iii) the flow of materials is cyclic. 
(iv) the flow of energy is cyclic. 
1) (i) and (ii) 2) (ii) and (iii) 

3) (i) and (iv) 4) (i) and (iii) 

144. EVS f'k{k.k eas {ks= Hkze.k vkSj O;kogkfjd 
xfrfof/k;ksa dk D;k egÙo gS \ 
 
1) rkfdZd pqukSfr;ksa ds dkj.k mudh 

vuq'kalk ugha dh tkrh gSA 
2) os Nk=kas dks O;kogkfjd vuqHko vkSj 

i;kZoj.kh; vo/kkj.kkvksa dh xgjh 
le> iznku djrs gSaA 

3) mUgsa lS)kfUrd ppkZ rd gh lhfer 
j[kk tkuk pkfg,A 

4) os dsoy mUur f'k{kkfFkZ;ksa ds fy;s 
mi;ksxh gSaA 

  
144. What is the significance of field 

visits and practical activities in 

EVS teaching ? 

1) They are not recommended 

due to logical challenges. 

2) They provide students with 

hands-on-experiences and a 

deeper understanding of 

environmental concepts. 

3) They should be limited to 

theoretical discussions. 

4) They are only useful for 

advanced learners. 

145. ckny fuekZ.k] o"kkZ vkSj [kkjs ikuh ls rkts 
ikuh ds fuekZ.k tSlh izkÑfrd izfØ;kvksa ds 
laca/k esa dkSu&lh vo/kkj.kk is'k dh xbZ  
gS \ 
 
1) vkWDlhdj.k vkSj vip;u izfØ;k,¡ 
 
2) lek/kkuksa dh lar`Ir vkSj vfr&lar`Ir 
 
3) /kkrq] dk¡p vkSj ydM+h dk O;ogkj 
 

4) inkFkksZa esa vifjorZuh; ifjorZu 

  145. What concept is introduced in 

relation to natural processes such 

as cloud formation, rain and the 

creation of fresh water from saline 

water ? 

1) Oxidation and reduction 

reactions 

2) Saturation and super-

saturation of solutions 

3) The behaviour of metals, glass 

and wood 

4) The irreversible changes in 

substances 
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146. f'k{kd EVS f'k{k.k eas Lons'kh Kku vkSj 

n`f"Vdks.k dks lexz :i ls dSls ,dhd`r 

dj ldrs gSa \  

1) ikB~;Øe fMtkbu eas ,d:irk ds fy;s 

Lons'kh n`f"Vdks.k dh mis{kk djdsA 

 

2) lh[kus ds vuqHko dks le`) djus ds 

fy;s Lons'kh Kku] lkaLd`frd izFkkvksa 

vkSj n`f"Vdks.kksa dks lfØ; :i ls 

[kkstus vkSj ,dhd`r djus esaA 

 

3) eq[; /kkjk ds oSKkfud n`f"Vdks.kksa dks 

fo'ks"k :i ls izkFkfedrk nsdjA 

 

4) fofo/krk dk lEeku djus ds ctk; 

vkRelkr djus dh odkyr djdsA 

  146. How can teachers inclusively 

integrate indigenous knowledge and 

perspectives into EVS teaching ? 

1) By neglecting indigenous view 

points for uniformly in 

curriculum design. 

2) By proactive seeking and 

integrating indigenous 

knowledge, cultural practices, 

and perspectives to enrich the 

learning experiences. 

3) By exclusively prioritizing 

mainstream scientific 

perspectives. 

4) By advocating assimilation 

instead of respecting diversity. 

147. EVS eas jpukoknh f'k{k.k dk izeq[k 

fl)kUr fuEufyf[kr eas ls dkSu&lk gS \ 

 

1) f'k{kd dsfUnzr f'k{k.k 

2) lh[kus dh izfØ;k eas fuf"Ø; Nk= dh 

Hkwfedk 

3) leL;k lek/kku vkSj vUos"k.k eas 

lfØ; layXurk 

4) jVdj ;kn j[kuk 

  147. Which of the following is a key 

principle of constructivist teaching 

in EVS ? 

1) Teacher centered learning 

2) Passive student role in 

learning process 

3) Active engagement in problem 

solving and exploration 

4) Rote memorization 
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148. fuEufyf[kr esa ls dkSu&lk i'kq lzksr ls 
izkIr ugha gksrk gS vkSj ikS/ks vk/kkfjr 
mRikn ekuk tkrk gS \ 
 
1) nw/k  
2) lks;kchu 
3) iuhj  
4) v.Ms 

  

148. Which of the following is not 

derived from an animal source and 

is considered a plant based 

product ? 

1) Milk  

2) Soyabean 

3) Paneer  

4) Eggs 

149. NEP 2020 ds lUnHkZ eas EVS f'k{k.k eas 
vuqHkokRed f'k{kk dh D;k Hkwfedk gS \ 
 
1) EVS f'k{k.k esa vuqHkokRed f'k{kk dks 

grksRlkfgr fd;k tkrk gSA 
2) vuqHkokRed f'k{kk dsoy foKku fo"k;ksa 

ds fy;s izklafxd gSA 
3) vuqHkokRed f'k{kk dks izksRlkfgr fd;k 

tkrk gS vkSj ;g EVS f'k{k.k dk 
vfHkUu vax gSA 

4) vuqHkokRed f'k{kk d{kk esa ppkZ rd 
gh lhfer gSA 

  

149. In the context of NEP 2020, what is 

the role of experiential learning in 

EVS teaching ? 

1) Experiential learning is 

discouraged in EVS teaching. 

2) Experiential learning is only 

relevant for science subjects. 

3) Experiential learning is 

encouraged and integral to 

EVS teaching. 

4) Experiential learning is limited 

to classroom discussions. 

150. ifÙk;kas dh fo'ks"krkvksa dh igpku djrs 
le; fuEufyf[kr eas ls dkSu&lh bfUnz; 
lcls vf/kd izklafxd gS \ 
1) lquokbZ  
2) xa/k 
3) n`f"V  
4) Lokn 

  

150. While identifying features of 

leaves, which of the following 

senses is most relevant ? 

1) Hearing  

2) Smell 

3) Sight  

4) Taste 
 



jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, [FOR ROUGH WORK] 



  

 

6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV iSu ls 
iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus dks 
fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 

darkening complete circle using Black ball point pen as shown 

below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA / Rough work should be done only in the space provided in the 

Question Booklet for the same. 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA / 
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not 

allowed for changing answers. 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA 
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA / Out of the four alternatives for each question, only one circle for the most 

appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is 

not allowed to be changed. 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr LFkku 
ds vfrfjDr vU;= u fy[ksaA / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the 

Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet. 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa [iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks 
NksM+dj] nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA / Handle the Question Booklet and Answer Sheet with care, as under no 

circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not 

be provided.] 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA / The candidates should write the correct Number as 

given in the Question Booklet/Answer Sheet in the Signature Chart. 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby 
Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA / Candidates are not allowed to carry any 

textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit 

Card and Identity Card inside the examination hall/room. 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ [jksy ua0] vkSj igpku i= fn[kk,¡A / Each candidate must show on demand his/her 

Admit Card [Roll No.] and identity card to the Invigilator. 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA / No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh vH;FkhZ us 
nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk ekeyk ekuk tk,xkA 
OMR    mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk    ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk 
/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA / The candidates should not 
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart 

twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the 

Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR 

answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in 

nature. 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA / Use of Electronic/Manual Calculator is prohibited. 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr lk/kuksa ds 
lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA / The candidates are governed by Guidelines/Procedure given in the 

Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair 

means will be dealt with as per Rules and Regulations of the Board. 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall be detached 

under any circumstances. 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys tk ldrs 
gSaA / On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates 

are allowed to take away this Question Booklet with them. 

� � 
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